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Question Number : 26 Question Id : 40503611256 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A sample of red ink (a colloidal suspension) gcolle gedu nias
is prepared by mixing eosin dye, egg white, g mmmm—————
HCHO and water. The component which

ensures stabﬂit}-' of the ink sample is :



Options :
40503640861, Cosin dye

40503640862, 88 White

40503640863, HCHO

40503640864.

Question Number : 26 Question Id : 40503611256 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

AT TE (UF FIEAGE (dad) & UF gfagsl
=+ 5T 9%, 37 H kg 9, HCHO
91 S H THET FOF " S g e
wiaeel & Tenfae #1 ghfrad w3 awen s
Options :

40503640861, SeITaA {5/

40503640862, A= I Hha HIT

40503640863. ELER)

40503640864, A

Question Number : 27 Question Id : 40503611257 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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250 mL of a waste solution obtained from

the workshop of a goldsmith contains
0.1M AgNO;and 0.1 M AuCl. Thesolution
was electrolyzed at 2 V by passing a current
of 1 A for 15 minutes. The metal/metals

electrodeposited will be :

[0
Ag' /Ag

Options :

40503640865.

40503640866.

40503640867.

40503640868.

— 080V, E? —1.69 ﬂ

Aut/Au ).
only silver

silver and gold in equal mass

propor bon

silver and gnld in proportion to their

atomic Weights

DI"II}-‘ gr:-l::l

Question Number : 27 Question Id : 40503611257 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T GAR 1 FEI | W UF A9 faera=
%250 mL H 0.1 M AgNO; 41 0.1 M AuCl
£ A 2V WTF 1 A 1 fagd um
15 T2 o yanfed +%F 990 Tafed
T o/ 9IgY W S fefa 2/ e,

%f%:

E0
Ag’ /Ag

Options :

40503640865.

40503640866.

=080V,E® . =169 ﬂ
Aut/Au )
7 =iat
=il 991 WA T9E Hafd F FEedd |
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~nﬂ£ﬂ\ J = T"I%? ‘

g

40503640867.

40503640868, 1A HII

Question Number : 28 Question Id : 40503611258 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

lt'ﬂ'nr_-equil’i‘hrium«cu:)»ruata_ntfu::tr'.-ﬂnL s R4 C

f : , . 1@
is I\H_I and thatof B+ C = P is kﬂ_l,ﬂ\r_-

equilibrium constant for A — Pis:
Options :

KD 4+ x@
40503640869, eq

KO k®
40503640870, 10

KO @
40503640871, ™ ™

¥@ _ g
40503640872, - ™

Question Number : 28 Question Id : 40503611258 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

A A = B+ C F fau wmw feriw K{)

TMB+C — P HfawKY g A =P
% o g feewi 2
Options :

KD 4+ x@
40503640869. =

D /@
40503640870, 10
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KD k@
40503640871, M ™

K@ _ g
40503640872, b

Question Number : 29 Question Id : 40503611259 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Five moles of an ideal gas at 1 bar and
298 K is expanded into vacuum to double
the volume. The work done is :

Options :

40503640873, ZETO

~RTInV,/V,

40503640874,
S P AR T
40503640875. RT (V2 — V)
Cy(T=Ty)
40503640876.

Question Number : 29 Question Id : 40503611259 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

U e 9 % U= HiA &I 1 bar a9l
298 K W i ¥ 39% 99 & T %
e faan T T T e
Options :

40503640873. =

e ') T
40503640874, "1 InVo/Vy
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40503640876. v(l2=Ty)



Question Number : 30 Question Id : 40503611260 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The molecule in which hybrid MOs involve
only one d-orbital of the central atom is :
Options :

oAy 12
40503640877, LNHEN)4]

40503640878. BrFs5

[CrF )3
40503640879, ' ¢

40503640880, <eF4

Question Number : 30 Question Id : 40503611260 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
], T9E® G MO H F=@E A &
A UF d-FF Ao g, ¥

Options :

oAy 12
40503640877, LNVHEN)4]

40503640878. BrFs5

[CrF )3
40503640879, ' ¢

40503640880, <eF4

Display Question Number : Yes Is Question Mandatory : No Single Line Questio
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Question Number : 31 Question Id : 40503611261 Question Type : MCQ Option
Qcollegeduma@



The shortest wavelength of H atom in the

L}-'ma_n series is b i The Iongr:-st wavc-lc-ngﬂ'n

in the Balmer series of He ™ is:
Options :
36),

40503640881.

40503640882.

40503640883.

40503640884, 2

Question Number : 31 Question Id

: 40503611261 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
H T &1 Tay Biel e @A g §
N, F1 He* =1 9T S0t F Tl o qimne=

T

Options :
36),

40503640881.

40503640882.

40503640883.

40503640884, 2

Question Number : 32 Question Id
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Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The process that is NOT endothermic in
nature 1s :

Options :

H'[i_’-:l' Feo @ — H':E}

40503640885.

Ar. +e — Ar,.
40503640886, &

O & ks

i) ()

40503640887

.Na R [\ia*, + e
40503640888, & (&)

Question Number : 32 Question Id : 40503611262 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
o W TEHIEE:; ST ST A8l @
Options :

H'[f-} Fe — H{;}

40503640885,

Ar .y +e — Ar
40503640886, &)

O 4& i

[."'_:.' {L'}

40503640887.

.I.\Ja A = Na*, - e
40503640888, &) (&)

Question Number : 33 Question Id : 40503611263 Question Type : MCQ Option g collesedunias
Display Question Number : Yes Is Question Mandatory : No Single Line Questio ) largeslsgmdm@v e

Orientation : Vertical =
Correct Marks : 4 Wrong Marks : 1



An alkaline earth metal ‘M’ readily forms
water soluble sulphate and water
insoluble hydroxide. Its oxide MO is very
stable to heat and does not have rock-salt
structure. M is :

Options :

40503640889, M8

40503640890, Be

40503640891, <2

40503640892, OF

Question Number : 33 Question Id : 40503611263 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T RE a1 o91q ‘M Iisarge s sio-faed
AeRe a9 Wol-Afaerd TSSIaEEe sA €|
T AEEEE MO 51 % 9fa sAfaeeart @
1 WS T A H AR e gl M B
Options :

40503640889. M8

40503640890, Be

40503640891, <2

40503640892, OF

Question Number : 34 Question Id : 40503611264 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Questio ti

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1 gcollegeduniaé
The reaction in which the hybridisation of < T

the underlined atom is affected is :
Options :



XeF, + SbFs5 —

40503640893,
= M e
40503640894, = ==
i - B
40503640895, — -
' H.PO Disproportionation
3P O,
40503640896,

Question Number : 34 Question Id : 40503611264 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
sAfferen forosl it TaT) = e genfaq

Bl S&»‘Z g
Options :

XeF, + SbFy —
40503640893, —

H,S0, + NaCl —22K,
40503640894,

o H'

NH;
40503640895, — -

Ha PO, — A0
40503640896.

Question Number : 35 Question Id : 40503611265 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The incorrect statement(s) among (a) - (c)
is (are) :
(@) W(VI) is more stable than Cr(VI).

(b)  inthe presence of HCI, permanganate

Htrations prf}vidr_- satisfacmr}-' resulls.

(c) some lanthanoid oxides can be used
as phosphors.
Options :

40503640897, (@ only

40503640898, (P) only

40503640899, (3) and (b) only

40503640900, (P)and (c) only

Question Number : 35 Question Id : 40503611265 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

FUA (a) - (c) H H TeAd 9T 2/ F
(a)  Cr(VI) T 319en W(VI) Zaferes i 2
(b) HCl =1 3ufterfq ®, Wi 3 Ema

Tarye gfom 29 2
(c) TP VI_HFMEE AEEEEl F1 FIOFRI &I
TE I9AN H o TFd 2

Options :

40503640897, (@)

40503640898, () A

40503640899, (@) T (b) A

40503640000, (D) T (€) ¥
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Question Number : 36 Question Id : 40503611266 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The Crystal Field Stabilization Energy
(CFSE) of [CoF5(H50),4] (Ap<P) is:
Options :

—08 !
40503640901. B

40503640902, % Ao

i A 4P
40503640003, 0B Ap+2P

~04 A, +P
40503640904,

Question Number : 36 Question Id : 40503611266 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
[CoF,(H,0),] =i for=er 4= Tmisrao st
(CFSE) (A,<P) ¥ :

Options :

40503640001, 0% Ao

40503640902, 0.4 49

— /! .
40503640903. G

~04 Ay+P
40503640904.

Question Number : 37 Question Id : 40503611267 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Questio

Orientation : Vertical "
Correct Marks : 4 Wrong Marks : 1 CQHESEdunlaé



The one that can exhibit highest
paramagnetic behaviour among the
fnllﬂwf_t'lg ig

gly = glycinato; bpy =2, 2'-bipyridine

Options :

40503640905, 1L A(E1Y)2]

40503640906. [Fe(en)(bpy)(NH,),]**
40503640907, [COOX,(OH)] ™ (89> P)
40503640008, | INFl”

Question Number : 37 Question Id : 40503611267 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Treafafad 9 9 =57 = 9ad A7 Saasa
FER Yarvd FI S, ©
gly =TSl bpy =2, 2'-

Options :

40503640005, L A(81y)2]

40503640906, Fe(Em(bpy)(NH;),1*

40503640907, 1COOX)(OH),] ™ (89 > P)
_ »

40503640908, | HNH3)e]

Question Number : 38 Question Id : 40503611268 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Questio

Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1 Qcollegedunlaé
The processes of calcination and roasting N

in metallurgical industries, respectively,

can lead to:



Options :

40503640909 Global warming and acid rain

Global warming and photochemical

40503640910, SMO§

Photochemical smog and global
40503640911, ‘Varming
Photochemical smog and ozone layer

40503640912, depletion

Question Number : 38 Question Id : 40503611268 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
IAFHE UM H, e e 9s[ & 9%E
HAT: Y2 HE T
Options :
40503640009, ¥ AT T St e

EIFEEIG NG| A4 HEHEES A
40503640910. k7

THIIAHEF gHET CIEEE G IR R |
40503640911, : 220

TFHEEE JHFE] a9 ASH T &

40503640912, =T

Question Number : 39 Question Id : 40503611269 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Among the following compounds, which )
one has the shortest C—Cl bond ? Qﬁo!lgesgdequﬂli

Options :



HaC,

H;C——Cl
40503640913. CHj
40503640914, HC—Cl

P e
f|;_|—1
40503640915, 12

HC

40503640916. CH,

Question Number : 39 Question Id : 40503611269 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
frafafaa I § 49 faad C—Cl ==y
Had BT e ?

Options :

H;C
H,C——Cl
40503640913. CH,

40503640914, HaC—Cl

f_,fC'l

f]f.H

CH,

40503640915.

.
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40503640916. CH,



Question Number : 40 Question Id : 40503611270 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Which of the following compounds will
form the precipitate with aq.AgINO,
solution most readily ?

Options :

-
40503640917. S

B

|, r

N

il

40503640918.
40503640919, — O Br
40503640920. OCHjz

Question Number : 40 Question Id : 40503611270 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

frafafaa af § & F@ S&@ AgNO,
foaeram F W19 Tad virsayEs 2Ea 2 2
Options :

)

40503640917.
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~Br

N.
N
40503640918.
40503640920. OCH,

Question Number : 41 Question Id : 40503611271 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The major product [B] in the following

reactions is :
fllH;a
CHS —CHE —CH- CHE —DCHE . CI—I3

S T i o
| SO
Heat ~ 1] 2lcohol =3~ [B]

Options :
.
40503640021, CHla—CH=C—CHs

40503640922, “H2=CH,

CH, —CH, - CH=CH~-CH,
40503640923, - 2 :

CH,

|
40503640924, CH3—CHy—C=CH, g collegedunia:

Question Number : 41 Question Id : 40503611271 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option



Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

ffafan sfufFmaedi § q=2 3a= [B] ® -
CH,
CH, —CH,—CH—CH,—OCH,—CH,

HI . H,80,

g (AT —— [B]

Options :
cH
40503640921, 113~ CH=C—ClH;
40503640922, 2= CHa
H, - CH, - CH =CH-CH,
40503640923, : 2 :
(|;H3

40503640924, T3~ CH—C=CHy

Question Number : 42 Question Id : 40503611272 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

In the following reaction sequence, [C] is :

NH,

~~_ (1) NaNO,+HC], 0-5°C
(O > [A]
] (ii) Cu,Cl,+HCI

CHy

Cly Na+dry ether .
h » [B] 2 » [{]
v (Major Product)
Options :
CH:{-_::; ol —x ) f»— CH,

40503640925, el

.
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c,— O~ O Y—cH,

40503640926. Cl Cl

o

. N
Cl— (O —CH,— () —CH,—C(l
RNk

40503640927.
'.fz' x\"'" - '\-. B
Gl {3 F—LCH— (‘.Hz—'\i___;— Cl
40503640928. — '

Question Number : 42 Question Id : 40503611272 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

fefafaa sfafern sawa 4, [C] &

NH,
fl (i) NaNO,;+HC], 0-5°C
& > [A]
rf‘ (ii) Cu,Cl, +HCI
CH,
Cl, Na+ I §91 ]
> [B] » [C]
(=9 37915
Options :
f f —~ o ~
CH;—\ O — O —CH;
R S

40503640925.

CH 24({ ) .':Z:—Z{ 3 ":}— CH,
40503640926. ¢l Cl

.

Fooak .
c— O —CH,— O —CHy—dl
40503640927 e N "/

’
LA

I\
Cl— () —CH,—CH ) —a
"-._ / ¥ ’ L
40503640928. — __\L—J
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Question Number : 43 Question Id : 40503611273 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The mechanism of action of “ Terfenadine”
(Seldane) is :
Options :

40503640929, Inhibits the secretion of histamine

40503640930, Helps in the secretion of histamine

4050364003 1. Activates the histamine receptor

Inhibits the action of histamine

40503640932, Teceptor

Question Number : 43 Question Id : 40503611273 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
YA (TETEA) % I EAar
£

Options :

10503640070, TETT o Ere 1 Torlifera <kt €

40503640030, 2T o T H TR FLA T

4050364093 1. TR -l 1 Bl e 2
feefm-atfvmeE =1 e =1 i
40503640932, Hd |

gcollegedunia@
Question Number : 44 Question Id : 40503611274 Question Type : MCQ Option (T S
Display Question Number : Yes Is Question Mandatory : No Single Line Questio

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

a IS



The major product [R] in the following

sequence of reactions is :

(i) LiNH,/ether

HC=CH -
(i) HsC
CH-Br
{CHE,:]ECH
(1) HgS0,/H;50, Cone. H,50
204/ Hy 1, 10] 2504 Ry
(ii) NaBH,
Options :
H,C
i 8
C=CH-CH,4
/ 3
40503640933, (CH3)2CH
HC
C—CH,—CH
B g = 3
40503640934, H(CH3)
H,C
C=C(CH
D e
40503640935, 1 13CCH:
H,C
CH-CH=CH,
CHs) cH
40503640936. (CHs)

Question Number : 44 Question Id : 40503611274 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Trfefaa sAfafera-1Fa 4 7= 39T [R]

g
) LiNH, /%o
o= O HNHL/E > [P]
(ii) HaC
’ \\‘:H—Br
(CH5),CH
W) HegOa/ 20 &% H,S0
it ‘H[Q] 2 4=[R]
(ii) NaBH, A
Options :
H,C
N
C=CH-CH;
o %
40503640933, (“H3)2CH
HC
C—CH,—CH
i 2 3
20503640934, T(CH3)
H.C
3 KE_C((.'H]
grie(CEl)
40503640935, | 3CCH2
H,C

/
CH.),CH
40503640936, (CH3)2

Question Number : 45 Question Id : 40503611275 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The major product [C] of the following

reaction sequence will be :

(i) NaBH, ©
CH,=CH—-CHO — GIA] == - [B]
AlCly
LLNG
Options :
::‘jﬁ/\(\‘xﬁr
o
40503640937. = D
_.-r"ﬁ-. ___.-"'.""'\-\.‘_H_
i 5
40503640938. ’ Br
1‘3r
L~
40503640939,
Br
or Y
40503640940. -~ D

Question Number : 45 Question Id : 40503611275 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
freferfan stfufsmen-argFa § g2 5e01e [C]
T

(i) NaBH, (O)

o[Al —
(i) SOCI, =l i [B]

Al gcollegeduniaé
DE I" India’s largest Student Review Platform

—_ [CI =

CH,=CH-CHO

Options :



40503640937, D
By
40503640938.
1‘3r
- ) ]
40503640939. &

Br

40503640940.

Sub-Section Number : 2
Sub-Section Id : 405036788
Question Shuffling Allowed : Yes

Question Number : 46 Question Id : 40503611276 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

A 100 mL solution was made by adding
143 gof Na,CO, - xH,O. The normality of
the solution is 0.1 N. The value of
xis

(The atomic mass of Na is 23 g/ mol)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002
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Question Number : 46 Question Id : 40503611276 Question Type : SA Display Qr
Correct Marks : 4 Wrong Marks : 0



Na,CO, - xH,0 & 1.43 g %1 fHema
100 mL =1 Ush foe@= == T faeaq &t
T 01N Bl x FHA© |
(Na i T Hafd 23 g/ mol )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 t0 5.002

Question Number : 47 Question Id : 40503611277 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0

The osmotic pressure of a solution of NaCl

is 0.10 atm and that of a glucose solution

is 0.20 atm. The osmotic pressure of a

solution formed by mixing 1 L of the

sodium chloride solution with 2 L of the

glucose solution is x X103 atm. x is
. (nearest integer)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText
Possible Answers :

5 t0 5.002

Question Number : 47 Question Id : 40503611277 Question Type : SA Display Question Number : Yes
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The number of molecules with energy
greater than the threshold energy for a
reaction increases five fold by a rise of
temperature from 27 °C to 42 °C. Its
energy of activation in J/mol is
. (Take In5 =1.6094 ;
R=8.314 ] mol 1K1
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Consider the following equations :

2Fe?* +H,0, - xA+yB

(in basic medium)

2MnOy4 +6H F 451 1009 —x' C+y' D+2Z'E
(in acidic medium)
The sum of the stoichiometric coefficients
x, ¥, x', y and 2’ for products A, B, C, D
and E, respectively, is I
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The number of chiral centres present in

threonine is
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